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. Answer all questions.
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The mean deviation from the median for The diameter of a circle is 105 cm less 9  Acylinder has base radius 7 cm and.heigh; 13 Base of a hemisphere, a (:.ylinder and a
the following data is - than its circumference. The radius of the 10 cm. What is the volume of a cylinder ? f}%ﬂe 1st.equaé ?;ld alsolthe helghts are same.
34’ 66, 30’ 38, 44, 50’ 40, 60, 42,51 circle is - (A) 1540 Cm3 (B) 770 cm3 Qa;e ;zéo:;a-[ Z;V;;qme;;: :'Qa; Q@ a; ;

el A) 22 cm B) 23 cm ; , O
R ol s R Ram g At B (03'24 - ED)) L (© 770mem® (D) 1500 em3 TR S A e o R
3 _ ( _ ‘ T 99T % o @ B 7 ¥f qa ST T ST € —
34, 66, 30, 38, 44, 50, 40, 60, 42, 51 Teh 1 BT ST Il Uy ¥ 105 9 9 oS 10 T T | Ao T e w7 G e
(4) &7 ) 88 L A) 15803 (B) 770 & ©3:2:1  (D2:1:3
’ ‘ ‘ 770 7 &0 1500 &1

: (C) 24 & (D) 24.5 T 14 A metallic sphere of radius 2.1 cm is

The mean and median of a frequency . . | .

L vel | 10  The radius and the height of a cone are in melted and reset into sphere ball of half
distribution are 52 and 55 respectively. _ ; the ratio 1 : 3 and i 1 s 1078 em3 radius of origin sphere. How many such
What is the mode of the distribution ? An observer 1.5m tall is 20.5m away cratio 1 : 3 and 1ts volume Is cm-, ’ gin Spnere. 5 Y

| ' =y N i he angle of then its diameter is - spherical balls can be made ?
Wwﬁfmﬁwamqm from a tower 22 m high. The ang A 35
o 55 ¥ ; elevation of the top of the tower from the (A) 3.5 em (B) 7 em T Gy 1 M 2.1 99 B @ ¥ R
A 52 qT 55 ¥, N MG B Fob i (C) 14 cm (D) 21 cm RITemeT T omedt B o TremEr
eye of the - : Ao T 3 . i .
oy , &2 T 205 O U B B O S H I3 | gy ¥ | e et e R
(A) 61 (B) 53.5 1.5 H o= YEs 22 W < ¥ 20. qUT TAHT AT 1078 ¥ %, a9 THH 3 7 ;
X ¥ | Y @ SifE ¥ X % A A Lol M *
(©) 53 (D) 54 ‘ (A) 2 B) 4
. ' T B E — (A) 3.5 &t (B) 7 & © 6 D) 8
Two identical cubes each of volume (A) 30° (B) 45° (C) 14 ¥ (D) 21 ¥ |
64 cm? are joined together end to end to. . (C) 60° D) 75° 15 The square root of 3025 is -
 form a cuboid, the total surface area of 11 If ga=1 and b=1 is a solution of the 3025 @1 T ¥ -
’ae) c;l(l;oid 218 - B The value 50° in radians is - eq}lation 5a + p = 17b, then the value of (A) 35 (B) 45
| cm m : . pls- A (©) 55 (D) 65
© 320cm? (D) 640 cm? 0w e 1 R W g=1 oK b= 1, W
5 .
< U T T Y B S 64 T () 0n (B) or Sa+ p=17b & Uk & §, 9 p & 16  Water in a canal, 6m wide and 1.5m deep,
%%@ﬁﬂﬁm@ﬁﬁmw 5 5 AM T - is flowing with a speed of 10 km/h. If
3, & TN @ 2 Lip AABA § — ©) 9 r D) “I‘gﬂ' A 5 ' ®B) 7 8 cm of standing water is needed, then
() 80 T2 (B) 160 ﬁz‘ | (©) 11 D) 12 1318‘:; i::l?ecsh? area will it irrigate in -
‘ 2 2 , : !
(© 320 () 40 & The ratio of curved surface area of two 12 Solution of the equation (A) 56.25 hectares (B) 91.47 hectares
: : . spheres is 4 : 9. What is the ratio of their (4+a)(5-a) (C) 80.76 hectares (D) 76.56 hectares
The total surface area of a cube is 1014 ~ Gra ):113- e 6 W Ay oY 1.5 W el e § um
W i i ‘ 22 +a)(71-a : o
sg;af?e meter. What is the length of its volimes 2 (75 = 7) DkmhB MA@y gk gad
A (B) 169 m (ralls-a) oy 7 gan R TR & & 30 frve ¥ e
S b et BT e S 4 981 2+a)(1-a) e o Rierd X 7
| 2\ 2 5 (A) 56.25 TFTT
@ T w1 P 7Y dw 1014 T o %?( =___) 2 . \
AT ¥ | B e e w2 e 1 3 e S e
@ el Bt o B © a=2 ®) a=-2 ED; 76.56 ¥
© 13 D) 11 % (C) 8:27 (D) 27:8 2 2 :
6s1 T1 0 [PTO. 651 11 3 . [PTO.
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l 20 The perimeter of a certain sector of a circle 24 Areft of piec.e of a canvas is 1105 'mz.'A 27 The area of a cirqv:ilax: ring enclosezd |
17 ( A2 L 4x - 3) =9 is equal to the length of the arc of a conical tent is to ;e made py canvas with between two concentric circles is 286 cm-.
semicircle having the same radius, then base area 616 m“. Assuming that all the What are the radii of the two circles if
(A) (2x-1)(2x - 3) T the angle of the sector in degree is - stic{hing margins and the wastage incurred | their difference is 7 cm ?
2 . 22 ‘ , while cutting, amounts to approximately (A) 14 cm, 7cm  (B) 10 cm, 3 cm
» 2 1 te 2 .
B) (2x+1)(2x- 3) (TC = ":7"/ . (SAI; 2’(;};? e hexg]z;?fztl}:e font Is (C) 12cm,5cm (D) 13 cm, 6 cm
o> e & Pl Boaavs @ o, w © 1820m (@ 20m : awwww% .
; > - 2 qET BT FAHA 286 | i i
D) (2x +1)(2x+3) ﬁmﬁi%‘@*ﬂmﬁmi?“ | % BTG B THS B ATHA 1105 D2 ¥ X “m%‘aﬁ:s:ursmem?@rg ;
| %, @t froagrs @ e Rl - 39 HTAE ¥ 9P B B BT AY T E | s - %ﬁ’r. :
18  The cube root of 2197 is - . 2 fore SaTt o goThe 616 AP ¥ | W o
. 2197_5(@%‘ - ‘ | T g2 P R o e F e 5 62 (C) 12 3%, 5 &0t (D) 13 &, 6 ¥
A) 23 (B) 17 (A) 65° 27 16"  (B) 65° 45' 45" | A T O B | WY A S ¥ -
(© 19 . D13 (C) 65°5' 11" (D) 65°45 5" ‘ (A) 20.71 5 (B) 24 W | 28 Area of the smallest square that can
' ' , (C) 1820 % D) 21 & ~ circumscribe a circle of area 616 cm“ s -
The three vertices of a parallelogram taken . D) (A) 784 om? ®) 824 cm?
19 Study the given line graph carefully to in order are (0, 1), (2, 3) and (4, 3) (c; 864 . (D; 764 -
. , : £ th . cm cm
answer the question : gespectlvely, t%len the coordinates of the 25 TP polnonial o deire oo | l '
%qmimaﬁamwmﬁmmm( fourth vertex is - ‘. . . 39 B § B T @1 &9 =1 O 5
999 @ S € et TR SIS % T AT SN (r—2) is a factor of P(t), then P(2) is - | 616 T W Avew T IH B
©, 1), 2, 3) a1 (4, 3)%, Hﬂftﬁsﬁé% | . (A) 0 : BECIE T ~
‘ . ‘ ; ' Zi"g ?)‘ ® 1.2 ®) (r-2) (A) 784 q9i2 (B) 824 &912
5 WO - © (_’2, 1 ©) (2, -1) ©) 2 ‘ (C) 864 T2 (D) 764 9412
; £ | 4 . (D) Can not be determined
o 22  What would be the printed price of a wall- | 29 Out of T 20,000 Narendra gives some
E’:’: l ClQCk purChased at f 380 SO that aﬂel' qﬁ P(t) 2 n Z 1 m a;T § % am (t - 2)’ £ amount on Ioan at Simple interest ,rate 8%
% §- *  giving 5% discount, there is 25% profit ? P(t) @1 T& [oETs T, a9 PQE - per annum and rest amount at simple
- r wﬁana@wm%a%mmwa ' (A) 0 | , 4 .
. SqH BT T T 380 ¥ T S% W % interest rate —% per annum. At the end
O 011 2012 2013 2014 2015 2016 o 25% W R 7 B) (t-2) : 3
) Yeas > ‘ B) T 450 ©) 2 of year he earns ¥ 800. The amount given
(A) T 400 (B) at 8% rate will be -

% 600 D '
(C) X 500 (D) . | o T 320,000 ﬁ@:gfavfsw%ﬁmam

What is the percentage increase in export

from the lowest to the highest for the given If bll'ﬂ’; rate and death rate of a city is 10%

years ? each, what will be the approximate | i =TT 3T 9T R 9w TRy %
™ awi A Rﬁﬁq afa @ sifuead | population of the city after 2 years, if 26 The value of (250047)/ 13824)/ |
Reest? | current population is 3000 ? is - WL Titfer =TT &T 9T SUR %ﬁf% | o
ﬁuﬁaﬁ%ﬁuﬁmﬁ'ggg.. | .
A) 200% AR TF T H T T U TG T IS Y, Y | % o7 ¥ S T 800 1 T Gifdf Bl ¥
EB) 250% 10% ¥ 1277 3 91K IET bl T SR % (250047) 3 "'(13824) 3@ AN T - 8% <1 &Y UT IYUR & T Ay e -
©) . 1 @t TR A ST 3000 ¥ 7 - (A) 23 - ®) 29 » (A) T 8,000 (B) Z 6,000
(D) 400% (A) 2940 () 060 © 33 D) 39 (C) T10,000 (D) T 12,000
« | (€) 3630 (D) 3000 . | ,
;5] II 4 [P.T.O. 651 I1 . 5 . [PT.O.
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30 Tonu invested 10% more than the
investment of Monu and Sonu invested
10% less than the investment of Monu: If
the total investment of all the three persons
is ¥ 60,000, the investment of Monu is =

3, W ¥ 10% e Frag s ¥ qar
|, A ¥ 10% %9 Py s ® 1ol
it el @ g P 2 60,000, A
%1 Pragr ¥ -
(A) T 10,000
(C) T 30,000

B) T 20,000
(D) T 40,000

31 How many cubes of 25 cm edge canb
put in a cubical box of 1 m edge?

1 9 Ry A T R ¥, 25 R
fFiaoa T @ WEsa & 7.
(A) 4 B) 16
(©) 2 (D) 64

32 If point A (. 3) is equidistant from the
point B (3, —4) and C (-2, 0) then - « ..

CE2,0T T g W aF -
(A) 4x—8y=16 ‘

(B) 4x-13=2y
(C) 10x -8y =21 ‘
D) 10x+8y=16 -

33 The value of (423801)% +(22801)%%

is -

(423801)% + (22801)% ® AT § -

(A) 902 ®B) 912
(C) 802 (D) 812
651 I 1

34

35

If A, B, C are the angles of a triangle,
then the value of

tan(B +C) + tan(C + A4) + tan (4 + B)
tan (z — 4) + tan(7 — B) + tan(n - C)
is equal to -

afk A, B, C sl et & =iwr &, a9

tan(B+C) +tan(C+ A) + tan(A4+ B)

tan( — 4) + tan(z — B) + tan(n - C)

%1 HE IqAT § —
(A) 0

© %

In the adjoining figure, ZADE = /B,
AE=8cm, EB=7cm, BC=9cm,

(B) 1
(D) tan (A+B+C)

AD=10cm and DC=2cm, then the
length DE is -

B C
(A) 2.1 ecm (B) 6 cm
(€©) 6.75 ecm D) 7.8 cm

o fr § ZADE = /B, AE =839,
EB=7891, BC=934, AD=1039
qar DC =2+, 99 DE & 91 ¢ —

A
E D
B - C
(A) 2.1 3 (B) 63T
(C) 6.75 &N (D) 7.8 ot

[PTO.

36 Two parallel lines AB and CD are

intersected by a transversal EF at M and
N respectively. The lines MP and NP are

the bisectors of interior angles /BMN

and ZDNM on the same side of the |-

transversal. Then ZMPN is equal to :

o Rdw e EF 2 o Ywed AB |

38 Which of the following is an equation ?
Fret % & @ om e ¥ 7 |
A) x=0

B) x+220

(€C) 9-5=4

D) G+ )% =x% +2xp +y°

AMCD S HHL: MAMNUT HREN T | |-

T@rd MP gt NP, fodes Tar & s € &g
Rerg arafte @vf  ZBMIN dem ZDNM
% otefes ¥ 1 A B AMPNWW%—

(A) 45°
(C) 90°

(B) 60°
(D) 120°

37 A passenger train takes 2 hours less for a i

journey of 300 km if its speed is increased
by 5 km/hr from its usual speed. The usual
speed of train is -

(A) 25 km/hr
(C) 15 knv/hr

(B) 30 km/hr
(D) 20 km/hr

300 Pt g T F X 1w anh Yo |

2% %9 GHE Wl ¥ A Sq! T T
e A 5 el Sor & S | WTE W
am T ¥ -

(A) 25 feli/e. (B) 30 f%sﬁr/a
(C) 15 falifd. (D) 20 fei,

651 I1
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-39  The average salary of a group of unskilled
workers is ¥ 10,000 and that of a group of
skilled workers is ¥ 15,000. If the
combined average salary is ¥ 12,000, then
the percentage of skilled workers is -

(T iy ARl % UH TR @ ofd dad
© % 10,000 ¥ qum HI@ ARTHl & GHE W
a1 T 15,000 ¥ | afs 37 TR &1 €Y
afraa 9 % 12,000 &1, T HTT AT
afs & —
(A) 30%

(©) 50%

(B) 40%
(D) 60%

40 If log;y2=03010, the value of
 logg 1024 is -

afs logyp2 = 03010, a9 logs 1024 @

P -qm % :
(A) 4.306 (B) 3.010
. (C) 6.931 (D) 1.386

41 A right angle triangle has height 12 cm
..» and base 4 cm. The area of triangle is :

o (A) 125q. om (B) 48 sq. cm
G (C) 24 sg. cm (D) 32 Sq. c¢m

o g B @ AR 12 W
7 oTUR 4 3 ¥ | BIS @ A ¥

(A) 2 ¥ (B) 48 T W
© 24 ¥ (D) 32 N
[PTO.



42 In which ratio the point (=3, p) divides the | 47  The distance between the points P (2, =3) 51  Which of the following is not a rabi crop ? | 54 Which Article of the Const?tt‘ltion deals
line segment joining the points (-5, —4) and Q (3, =2) is - (A) Rice (B) Wheat ' with _powers, authorities and
and (-2, 3) ? o T . = U . (C) Barley (D) Masoor responsibilities of Panchayats ? '

. N nits nits i & HEar YR HEREN
g (-3, p) frr e F Rigeht (5, 4) Prer 3 & Bt T o B 7 e el L
qem (-2, 3) B P T@ T @ (©) 242 Units (D) 32 Units . ~
; (A) wrE (B (A) 243 (A) (B) 356 (B)
fofsg st ¢ 7 Mg PR 3)TNQGB,-2)FaA B g c o . 6 i D) 243 (G)
(A) 2:3 (B) 3:2 T - ¢ L o
o o A 2 @ B 52 52 Which of the following is not an agro- | 5> When was Central Arid Zone Rescarch
~ based industry ? Institute set up ?
43 100g is what percent of 1 kg ? | © 242 = (D) 32 | (A) Edible il (B) Khandsari ' ST I 8 ATHYUM T &I o7 Fe
(12()) Tirf: 1 fom w1 ([Bé")“ 1”0;'&'% 7 | (C) Papar — Bhujia (D) Cement ;T)" ::;’I 2L -
0 0 48 In which quadrant both abscissa and | : 5 _ameh X : vey
(€C) 100% (D) 1000% ordinate are negative ? ' S‘:{ 3 o o (©) 1959 (D) 1985
(A) First (B) Second ' N 6 Which bt ol e . .
‘ . s ~ ich of the following institutes purchases

44 Two numbers are in the ratio 6 : 7. If 4 is (C) Third (D) Fourth () MO (B) . handicraft items diriﬂy from the craft
added to each of the numbers, the ratio e aguist ¥ 491 quW S S TONSTE (C) us — yRr (D) ddve | perione’ |
becomes 13 : 15, then the smaller number QT ? fr § 9 o) g s § Qg
- ' (A) v B) f&dm | 53 As per recommendations of Fifth State | S BTN I gR(ed TEgai @ gledl
q HEel w1 UK 6:7 ¥ | ARk wdw ©) g ©) =g Finance Commission of Rajasthan, | £y )

& | 4 WS 9§ U 13 : 15 K ~ distribution of the allocated resources for | (A) RIICO (B) RFC
MY w B et - ' , local bodies, is to be made in the ratio of - | C) RAJSICO D) RBI
(A) 36 B) 48 49 'é‘;e compound ?tzersegst7;>; \?M}O !alfh a: (A) 75.10% to rural bodies and 24.90% j o o
©) 56 (D) 60 cope anm:imdls 1’ tix th t‘en = er.esd to urban bodies 57 Who conceived the idea of the Indira
‘ 18 compounided yearly Lch (he B PeNio (B) 70% to rural bodies and 30% to urban Gandhi Canal Project ?
L . . is - | bodies | | ~ (A) Mohanlal Sukhadia
45 The angle which is four times its
comp]emgent is - E‘é; iy car g; :; years (C) 40% to rural bodies and 60% to urban | (B) Jawaharlal Nehru
years years bodies g (C) Jainarayan Vyas
% BT, WY STUH YIS B & TR A & [ .
v I(TB) . i % 10 91 ® 8% IiNie %l T ¥ Thghs (D) 50:50 to both rural and urban bodies (D) Kanwar Sain |
o o = % 2,59,712 ¥ | SIS AT A1 <F B T 3 T ey R sran & Rl sfea il et wfdier @1 R e
©) 72 D) 75 - a; N Bt o b vaniit | femmr @ S ¥ ° ~

46 A shopk £ .h' 10% & o  Cudl e s . B

shopkeeper offers his customers 10% . (B) SETETEAT
discount and still makes a profit of 26%. ©) 4= (D) 5 = (A) 75.10% W Pl @t 8T 24.90% (C) ST =1a

; : | et ot @ . '
What is the actual cost price to the | q 1) st o
shopkeeper of an article marked < 280 ? | 50 If the selling price of 20 articles is the (B) 70% wrIoT Prasrdl @t Tt 30% S1Ed ()
Th FHMAR U7 Tehl Bl 10% B @ s}elxme an the cost tp{'ice of 23 articles, then Framal =t 58 How many districts of Rajasthan are
T <t & T 1 26% wm etfvta @ the profit percent 1s - (C) 40% T Frer = T | covered by Thar desert ?
. . o ] T 60% Il ‘ " :
¥ 12 280 siftect w1 g T AT At 20 TR @ o e 23 TG & e T % R el 7 e et e
foe e wa TR R Y ? %Y T b GAA ¥, 99 O e ¥ - . , . T ¥ ?
- D) 50:50 qx( Tror ue sred Freerl &
(A) T 18648 (B) T 200 (A) 10% B) 11.5% | ~ &) = - : ) 5 ®) 6
(C) T 2072 (D) T 252 © 15% (D) 30% , ©) 7 (D) 12
651 I1 . [PTO. 651 I1 9 [eto
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59 When was Rajasthan State Mineral

60

61

Development  Corporation  Ltd.
amalgamated with Rajasthan State Mines
and Minerals Ltd. ?
(A) 20 January 1990
(B) 26 December 1995
(C) 1 March 2000

(D) 19 February 2003

TSI o Gt faea fg fa @
faea TRy TeT @W T @i o
%Y gor ?

(A) 20 Sl 1990

(B) 26 faw=T 1995

(C) 1 9t 2000

(D) 19 ®BTEd 2003

What is Saksham Yojana under Sarva

Shiksha Abhiyan implemented in

Rajasthan ?

(A) It ensures self employment to youth.

(B) It gives self defensive training to girls.

(C) It gives skill development training to
youth. '

D) It gives
housewives.

U # T @ 99 e aftme %

Sicrla we Qo wT ¥ 7

(A) T2 gar @rtt & WReFIR ghfyaa &
T

(B) TE wferhratl bl STITCaT o fg yfne |
@ T

(C) 9% gam @F1 ol BT febrr ot wfyreror
T

(D) 7% TRt & S el 3 ¥

insurance policy to

What is the share of Government of
Rajasthan and Hindustan Petroleum
Corporation Ltd. in Rajasthan Refinery ?
TR RGETH § U9 80 8k
fegear Ygiferam fom . ot fReedrard sty
37

(A) 74 : 26
(C) 75: 25

(B) 26 : 74
D) 25 : 75

651 I 1 10

62

63

64

65

In which of the following district industrial
centres of Rajasthan not a single large scale
industry is operating ason 31 March 2017 ?
(A) Dausa (B) Jalore

(C) Pratapgarh (D) All of these

e B

% H 31 9 2017 w1 Uh T 9% W @
ERT el w8 9 7

(A) (B) S

(C) yaTTe (D) T |

Which of the following is first Super
Thermal Power Plant of Rajasthan ?

(A) Suratgarh Super Thermal Power Plant
(B) Kota Thermal Power Plant

(C) Chhabra Thermal Power Plant

(D) Dholpur Gas Thermal Power Plant

mﬁ%ﬁwmﬁmww’

g 9 Wi § 7
(A) YO YT AU YRR Wi

 (B) BRI AN YET Wi

(C) B¥sT I Y Wi
(D) g T\ adE qER @i

Rajasthan has ______. percent Felspar
reserves of the country.

TSI H <91 & RIS HeIR
SR ¥ |

(A) 100 (B) 50

(©) 33 (D) 66

Which of the following power projects of
Rajasthan is under state's complete
ownership ?

(A) Chambal Project

(B) Beas Project

(C) Mahi Project

(D) Satpura Project

frefafag 9 Tongm A B foaEga
IR T & @ B gl @i el
g & 7

(A) T IRENHT (B) sI@ i

(C) A ufEier (D) wagsT afEers T

[PTO.
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66

67

68

69

BT T %1 TS GF BT ar?

Name the Ruler of Jaipur who served the
Mughal Court constantly during the reign
of Mughal Emperors viz. Shahjahan and
Aurangzeb.

(A) Raja Man Singh

(B) Mirza Raja Jai Singh

(C) Maharaja Sawai Jai Singh

(D) Raja Bhagwan Das

A §1E9TTE qESEl ofX SiY &
eI H Friat P SR § B B
I SAYY b EH B AT TR |

(A) ST AFRIE

(B) Rt on srafds

(C) TS Farg wakis

(D) TS WA Q™

Who was the founder ruler of Kota State ?
(A) Madho Singh (B) Mukund Singh
(C) Kishore Singh (D) Ram Singh

(A) Arenfys
(C) fratiis

(B) gpfie
(D) itz

In which Hindu month (V.S.) is Teja
Dashmi celebrated ?

(A) Asoj (B) Shravan {
(C) Bhadrapad (D) Kartik

fow feq wm (fd) & domeenh g
W § 7
(A) o
(C) wrsUg

(B) ArEor
(D) &ifi®

Champakali ornament is worn on which
part of the body ?

(A) Neck (B) Head

(C) Forehead (D) Ear

THTeRE ST STOX % R o7 aX we
o ?
(A) TEH
(© =T

B) R
(D) &M
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71

72

Who proposed the formation of 'Hadauti -
Sangh' to integrate the smaller states of
South Rajputana ?

(A) N. B. Gadgil

(B) Maharao Bhim Singh of Kota

(C) Maharao Bahadur Singh of Bundi
(D) Gokul Lal Asawa

FE F o fFe ekl 9w W @
v e ?

(A) T, 9. TR

(B) W@ HMRkiE (@)

(C) weTtE TErgiiiE (§)

(D) TPpe T STETE

Which ruler of Jaipur composed poems
under the pen-name 'Brijnidhi' ?

(A) Sawai Jai Singh ‘

(B) Sawai Pratap Singh

(C) Sawai Prithvi Singh

(D) Ishwari Singh

YR F BTG EE B ¥ amr
UM Fery foed 47 '
(A) gas raRie

(B) 945 YA

(C) ¥aR yeRiE

(D) syarditie

Who founded Vardhman Vidyalaya in
Jaipur ?

(A) Vijay Singh Pathlk

(B) Tikaram Paliwal

(C) Arjun Lal Sethi

(D) Heera Lal Shastri

AR ¥ e frem @ e mﬁ
ol ?

(A) Frorafiz e

(B) B Tl

(C) st ¥

(D) I STE

[ P.TO.



73  Who among the following was one of the

leader of the revolt of 1857 in Kota ?
‘(A) Jaidayal ‘

(B) Nand Kishore

(C) Kanhaiyalal

(D) ’Kushal Singh
Prefifaa & & @ B ¥ 1857 % e

Eai Qm gcreat v ?
(A) SEEAE
B): 7= fwaix
(D) FeIRiE

74  Which is the most popular Rajasthani song
which describes the beauty of a young
girl 7.
(A) KurJa (B) Mumal
(C) Sapna (D) Gorbandh
e e TR e T g 3 e
&I U HIAT § 7
@gm @ T
(C)aw (D) TEY

75 Where is the temple of Goddess Tripura
Sundan situated ?
(A) Banswara  (B) Udaipur
(C) Dungarpur (D) Chittor
g gl 3w HRE et R 7
(A) Stearet (B) SR
(©) TY (D) Rr<ie

651 I1
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77

76 Match the following Wildlife Sanctuaries 78 The Gajner Wildlife Sanctuary is located
with their correct locations : in which district of Rajasthan ?
(i) Ramgarh (a) Dholpur (A) Hanumangarh (B) Bikaner
Sanctuary (C) Churu (D) Sikar
(ii) Jawahar Sagar (b) Churu TR TR STHAT TR %,
i Rt ¥ R % 7 .
(iii) Van Vihar  (c) Bundi
Sanctuary (A) TR (B) FErT
(iv) Taal Chhappar (d) Alwar ©) g& (D) ”{-ﬁib‘{
Sanctuary -
(v) Sariska (e) Kota 79  Tharparkar breed is found in whlch regmn
Sanctuary of Rajasthan ? —
Freffa =it oramedf ) e Wl (A) Western Arid region
 oraRafeal ¥ BeEy (B) Shekhawati region L
(i) e (a) Hwge (C) Eastern region
ST D) South-East region
(iii) =7 Rrert © & (A) wRElt g6 &
(iv) 9t BT (d) STt (C) gt &
AR (D) fw-gd &=
(v) afm (€) BT
AT 80 Red loam soil is found in district of :
, (A) Sirohi B) Kota .
| @H G 3@ @ W (C) Dungarpur (D) Bikaner |
A (@ @ (Z) ) ® At e Pt orr W e R
B @ ® @ @ (© »
©©© O o WEtwm @E
®@® O © O © © ¥R (D) fwE
. . _ 81 ‘Nathra ki Pal’ mine is located m Eiistrict
Which tree leaves are used for making of -
bidi' 2 cEn
(A) Ajmer ®B) Udaipur
(A) Palash (B) Dhokda (C) Sirohi (D) Barmer
(C) Tendu (D) Teak N N
FrR ga B R @ i Ay P L’"f“ = s
AP E 2 '
(A) TSt (B) gt (&) ST (B) SeHgY
(C) % (D) W (C) Tl (D) TET
[PT.O. 651 I1
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82

83

84

85

'"Luni Basin' is a part of which broad
Physiographic division of Rajasthan ?
(A) Eastern Plain

(B) Western Desert

(C) Aravalli Hilly Region

(D) South-Eastern Plateau

T %1 TE A B ?

(A) qdl FEH

(B) wieml wowd

(C) ITUas TeEl Ry

(D) fu—gdl wer

Which of the following is with gentle slope
on sand dunes windward side and steep
slope on leeward side ?

(A) Longitudinal (B) Transverse

(C) Barchan (D) Nebkha
frerifera & Q BFET IGH WU T TG
T 9 e Gl oI 9 e § ¢
(A) Fges (B) A

(C) sw@H (D) E@n

Which of the following Tehsil has the
highest density of Sahariya tribe in °

Rajasthan ?- ‘
(A) Dhariyabad  (B) Kishanganj

(C) Chhabra (D) Mangrol
o § frefaiaa § 9 s aedw §
el Sewi &1 o e 7
(A) afamEr B) frerrist

(C) BT (D) AT

Which of the following categories of forest
covers the maximum percent of area in

~ Rajasthan ?

(A) Private forest

(B) Unclassified forest
(C) Reserved forest
(D) Protected forest

freiifea a9 SR 9 § o § feas
et gaifues wfera & omga § 7
(A) Tl &= (B) srerfiga o
(C) art@ e (D) €@ =

[PTO.
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87

88

89

651 I1

Varun-18 is an exercise related to which
one of the following ?

(A) Naval

(B) Military

(C) Airforce

(D) Disaster Relief Force

TE-18 9% g P ¥ R P Q.

aEhag ¥ ?
(A) S

(C) g
According to Budget announcement

2018-19 what will be the salary of
Asha Sahyogini in Rajasthan ?

(B) e
(D) a9aT a7

2018-19 I Sv1e HIYOT & AR ST |

H ‘oo TeOIREY @ o @ B ?
(A) T 1,850 (B) Z 2,000
(C) T 2,500 (D) T 2,200

Which one of the following Military
stations will be developed as smart facility
under the Smart City Mission ?

(A) Bhatinda (B) Wheeler Island
(C) Jaisalmer (D) Jodhpur
trfefea & @ P Ped 2w e
Rrét Prem % asq W BRRS &% =T A
Terenfa femam wmom 7

(A) wHfevst ~ (B) =T

(©) SR (D) e

In Rajasthan on which one of the following
dates, the second phase of ‘Mukhyamantri
Bhamashah Swasthya Bima Yojana’ was
started ?

(A) 1 Jan,, 2018 (B) 26 Jan, 2018
(C) 25 Nov, 2017 (D) 13 Dec., 2017
e f e ¥ fee e gerh
HIIE ey {1 A & fad s
@1 A fom T 7

(A) 1 s9a8, 2018

(B) 26 Sl 2018

(C) 25 99T, 2017
(D) 13 fegaz, 2017

]
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90 Omprakash Mitharwal has won which of

91

92

93

the following medals in recent

Commonwealth Games ?
(A) Bronze (B) Gold
(©) Silver (D) None of these

@W&TW%W?I%WA

ael ¥ = ¥ @ B e S ?
(A) &g (B) @i
(C) T (D) T ¥ B T

The famous ‘Batadu Well’ is situated in
which of the following districts of

Rajasthan ?
(A) Barmer (B) Jaipur
(C) Bharatpur (D) Dausa

Rig ‘SRR ol womew % P A @

ey fordt A Rera & 7
(@) TR (B) g
(©) TR ©) Fen

Ayushman Bharat Mission is related to
which one of the following sectors ?

(A) Education (B) Health
(C) Finance (D) Sports
SMYSN "I fsm &1 wwry P o @f
fradmae ? '
(A) farem (B) @

(D) &9

(© fom

Who among the following is the present
Central

(A) Shri Sharad Kumar
(B) Dr. Tejendra Mohan
(C) K. V. Chowdhary

(D) Alok Verma

Fratafaa & § &9 9 & adow
Hahar oge & ?

(A) A1 & PR

(B) = ¥z Aew

©) &. &@. Nd

(D) ol IHi

[PTO.

T e e e R

i

Vigilance Commissioner of India ? -

e A e R S R i o

o R e D AP A i R i

9%

95

96

97

'Gararda Vrihad Peyjal Pariyojna’ is related
to which of the following district of

Rajasthan ?
(A) Bundi -(B) Baran
(C) Kota (D) Jhalawar

fAdafra e g aafaa 7
&) & (B)
(C) @ (D) deEE

What is the current Repo Rate in India, as
per the announcements made by Reserve
Bank of India in June 2018 ?

ford % ot sReam T S 2018 ¥ &Y
ns‘a‘swaﬁé’saﬂwmﬁaﬁmﬁ
THRE ?
(A) 625%
(C) 5.75%

(B) 6%
(D) 6.1%

In which one of the following cities, the
Government of India will establish India's
largest data centre ?

(A) Bengaluru (B) Bhopal

(C) Indore (D) Jaipur

=1 7 | 69 18T § WIRA "X@IT WL &l
Fad W ST Wt Wi HOl 7

(A) dT@ (B) e

(©) 3= (D) wgY

National Digital Library of India is a

project of which one of the following

ministries ?

(A) Ministry of Finance

(B) Ministry of Education, Sc1ence and
Technology

(C) Ministry of Information Technology

(D) Ministry of Human Resource
Development

e 9 T Refrew W frefied

Fafpe A Ao & 7

(A) form H3Terg

(B) fveam, fem g @il HeEd

(C) gaT ddrinl HAd ‘~

(D) A daryA faem Hw=wed

651 [T

LDC_Exam_2018 (1st Paper) 09-09-2018

15

99

100

98 What is the new name of the ‘Sports

Authority of India’ ?

(A) Central Sports Authority
(B) Department of Sports
(C) Authority of Sports

(D) Sports India

®|MT 7

(A) =z Weg el
(B) feurda= oifs Wiy
(C) SIS oife wWied

(D) @iy sfean

Who among the following is the 21“_
Lieutenant Governor of Delhi ?

(A) Anil Baijal

(B) Tejendra Khanna
(C) Najeeb Jung

(D) Arvind Kejriwal

A 9 o Ree % 219 suvowuE ¥ ?

(A) atfier St

(B) ters @

(C) = T

(D) sXfas erdiaTet

What is the aim of Van Dhan Scheme of
Government of India ?

(A) Increasing forest cover

(B) Restriction on slash and burn
agriculture

(C) Preserving Biodiversity
(D) Empowering Tribal communities
economically

T TLHT & I UF AT Bl AT TS 7
(A) TAER GEET

(B) W T8 g7 TA W afwy
(C) Srafafaean dx&aT

(D) SRl 6T ST® |eTfeRTe (ol

[PT.O.



101

Pyramid of energy

(A) is always inverted.

(B) can be both inverted or upright.
(C) is always upright.

(D) is inverted only for sea ecosystem.

Fuit i
(A) W9 I ST § T ¥ |

(B) Sl a1 WSI T oraRen N ¥ waHaw

T

(C) W& @I ot ¥ g ¥

(D) %a@ 9% URes ¥ Sael orgwn ¥

104

105

qrgAvEd | 9, T orewen ¥ 5w w9
T AT ¥ P

(A) m w5 (B) v@ &

(C) vt (D) & Tl §

In which form, does water occur in gaseous
state in the atmosphere ?

(A) Snow particles (B) Water drop
(C) Water vapour (D) All of these ~ §

GRS R

Which of the three ‘R’s are regarded as
environment friendly ?

107 In which year was the Indian Patents Act
passed ? ‘
forg o i S ey wita gon
qr 7
(A) 1960 (B) 1970
(C) 1980 (D) 1990
Central dogma in molecular biology was

108

proposed by
(A) Gregor Mendel

(B) Thomas Hunt Morgan
(C) Frederich Griffith

(D) Francis Crick

o

111

Which of the following is the largest
ecosystem in the world ?

(A) Desert ecosystem

(B) Grassland ecosystem

(C) Ocean ecosystem

(D) Forest ecosystem

faga ¥ g9 s=1 uRRufeed 9 aF-a
¥?

(A) Tormm Uittt o

(B) wravf wricRafenr @

(C) arx aftRufie o

(D) afwel wiiRafaet o

B E | (A) Reduce, Reuse, Recycle o ofter ferames & kS Rt a1 fereme
(B) Reduce, Recreate, Reuse 7 g R | ‘ | 112 The most common cause of anaemia in
102 Who was awarded with the Nobel Prize O R ,R . TR t (A) TR Hew our country is
in 1975 for the discovery of ‘Central © epeat,‘ TOreeh heoitae (B) 999 &2 HUA (A) Iron deficiency
Dogma Reverse’ ? (D) Recycle, Reorder, Repeat (C) R By (B) Magnesium deficiency
(A) Monad (B) Dalton Frafafaa # @ &9 9 & R’ wfeRor & (D) wifrw fpw  (C) Potassium deficiency
(C) Khorana (D) Baltimore HIFA AN W ¥ 7 (D) Calcium deficiency
weg B Rad & d@s % fig A) &9 : IUONT, QHITEHI 109 Which of the following is used as an T Sy H Qﬁtﬁmaﬁ SEREEEICE |
1 (A) ®° &, I , '
1975 ¥ A9« G g frasr gofE : anticoagulant in blood transfusion ? Fufraaa sl sl ¢ ? :
(B) %9 BT, Y §9FI, T IUE A} Sodium clbate / Ry
e T ? - | EB) P (a) we ®) &
. 33(:36??, : IRY, I §9ET odium acetate TR ey
(A) (B) st : : . (C; Sodium carbonate © - ©)
. (D) gAgEmY, T gied, TR R
(©) g (D) STeER | (D) Sodium nitrate . . '
. e e 113 How many contrasting characters did
103 The flow of energy in an ecosystem | 106 For control of which disease is the triple T @ T SudnT fear s & 2 - Mendel select for his experiments ?
 follows the laws of antigen (D, P, T) administered to children ? A) G e ' U 3 o vl & fve feom fowm
(A) Kinetics (A) Diphtheria, Pertussis, Tetanus % ' B) Wi TR I ﬂ% g ?
(B) Thermodynamics (B) Diphtheria, Polio, Tetanus (C) Hifeaw Pk @A) 7 B) 8
(C) Probability (C) Diphtheria, Pertussis, Typhoid (D) s T © 9 ®) 10
(D) Photochemistry ' (D) Dengue, Polio, Typhoid e i f
T TiiRafae o ¥ Swt ware R wrl = % feuw wde (D, P, T) fovm T &t g 110 The nitrogenous base found in place of e ;\:hh:ﬁlt);zg :Sf‘ fe chromosoma Theoy 0
¥ oET A R 7 Yot : : Thiamine in RNA molecule is . .
%ﬂ 1 tr'ﬂ'c?f% . (A) Uracil (B) Guanine (A) Lamarck (B) Darwin
(A) ey (A) Rwdiftar, pgpa, feza (C) Cytosine (D) Adenine (C) Hooker (D) Sutton :
(B) STt (B) v, i, fedw ACTAY, 9 § aERA F @ W e éarﬁmm :f ERIUINE Ry el e
(C) et (©) fewehfean, ggwa, WS W G RN 86 § qd : .
| . (A) Q= (B) T8t (A) W (B) =Rl
(D) YHISETT (D) ¥y, W, 2w J
! (C) Tz (D) TRFE (©) Tt (D) "
651 11 16  [PTO. § 651 I1 17 [P.T.O.
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(A) Zero B) 50 Hz
(C) 100 Hz (D) 220 Hz
(A) T (B) 50 Hz

(D) 220 Hz

(C) 100 Hz

concave mirror, parallel to its principal

(D) pass through the prircipal focus

5 T e % T SR Y S

(B) TYU1 % YT & % A T BTN

An electric motor converts ;

(A) Mechanical energy into electrical
energy.

(B) Electrical energy into mechanical
energy. ,
(C) Heat energy into mechanical energy.

(D) Eddy currents energy into mechanical
_energy.

% fReE AT ¥ s o ko
(A) s St w1 R ot & |
(B) foga el &1 oo &=t A |
(C) &S SSil & Ui+ oot § |
(D) ¥aR 4T &i St @t AT ol A |

The frequency of direct current is :

A ray of light is made incident on a

axis. After reflection it will -

(A) pass through the centre of curvature

(B) 'mQVe parallel to the principal axis of
. the mirror

(C) pass through the pole of the mirror

THST B TF REOT UF oTaw U WX

¥ | Toeds % vyEw 7 -
(A) a1 B F TN

(C) T4 & ¥a & Teren
(D) T&T BHE ¥ TGN

651 11 s
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A plano convex lens (u = 1.5) with radius

v of curvature 20 c¢m is silvered at the curved

surface. The power of the system is -

T e & (1 =1.5) @ 9% T
o) gehar Brour 20 9 ¥ | 39 OV 9

 TE W ES A TRE R T W

frerr 1 e (power) Bl -

(A 15D
. (©) 5D

19

@B) 10D
(D) 25D

Lenz's law is a consequence of :

, (A) Conservation of charge

_ (B) Conservation of momentum

-~ (©) Conservation of energy
. (D) Conservation of current

A o P wRom R

(A) S F HIAT Bl

- (B) 99T & €W &
(C) Sl ¥ T @
(D) €I % T B

120

Which lamp is used as indicator in an
electric tester ?

| (A) Sodium lamp (B) Mercury lamp

o T H w-w oW qEE & w0 A

(Cy Neon lamp (D) Tungsten lamp

“ _wa‘mﬁmam% ?
(A dfm s (B) whG A
 (©) o @ (D) TTRT W

121

The unit of rate of flow of electric charge

S8 =

(B) Mho

(A) Volt

(C) Ampere (D) Ohm

RS TS T D AT ATEE -
(A) A (B) =t

(C) TR (D) 3

[PTO. |

e e e e e e

122 When white light is incident on a green

123

leaf

(A) the green colour is mostly absorbed
by the leaf.

(B) the green colour is mostly reﬂected
by the leaf.

(C) all the colours except green are

reflected by the leaf.

(D) all the colours are equally absorbed
by the leaf,

WE‘&‘H’%WWWWG{W@W%
o

(A) qﬁ%mg@wéwmmﬁm
HRE

(B)qﬁ%mg@w@rwwwaﬁh
BT E |

(C)qﬁasms%m%mﬁrﬁaaam
gl 1 yrafia B ¥ o ‘

(D)tﬁﬁ%mmﬁvﬁiﬁraasﬁww
WY AT |

The defect of eye, that arises due to the
cornea of the eye having different
curvatures in the horizontal and vertical
planes, is known as :

(A) Long sightedness
(B) Short sightedness
(C) Presbyopia

(D) Astigmatism

gﬁzﬁqvﬁma%wﬁmaﬁam%
%ﬁaamaw%maa‘rﬁﬁm@%%m
I BT &, hewwT §

(A) e ghe
(B) free gfe
(C) w1 gEghe
(D) TRemifes

651 I1
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124 I-V graph for a (conductor) metallic wire

at two temperatures T, and T, is shown in
the figure, then -

I
Ty
Ty

N
e
V

A) T, > T,

B) Tz >T

©) TI = TZ

(D) Cannot be determined from this
graph.

@ﬂwm%mamnag

WLV dahe e mn d, @ -

<V

A) T, > T,
B) T, > T,
© T, =T, ,
(D) 59 W% § Wi & fean s @ |

[PTO.
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If 2 A of current is flowing in a conductor
from a battery of 5V, then the resistance
of the conductor is :

(A) 2 Ohm (B) 2.5 Ohm

(C) 0.4 Ohm (D) 10 Ohm

S M i a ok i s ¥ 2 A

%! 9T verted Bl €, o uws @ uhy
e

@A) 2 (B) 2.5 3l

(C) 0.4 slm (D) 10 a0

126

127

The law of reflection, 'Angle of incidence
is equal to the angle of reflection!, is true
for reflection of a ray of light on -

(A) Plane surface only

(B) Concave surface only

(C) Convex surface only

(D) All of these

% FUST TaT ¥ T @ Uk fhor F
qUaaT & Y e -

(A) %aw a9 Gag & fd

(B) ¥ad 37w GaE F fod

(C) %aw SOd TaE &

(D) T T

Which of the following cells can not
produce continuous and constant current
for a longer time ?

(A) Lead accumulator cell

(B) Edison's cell

(C) Daniel cell

(D) Lechlanche cell

e Ot & @ fow 99 ¥ free @ P
oI T T % o v T o W g
T 7

(A) 91 daras 9

(B) e oW

(C) Shww A

(D) Wiyl ¥«

651 I1
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129

130

{ 131

20

A lens behaves as diverging lens in air
(,u::I) and converging lens in water -

(4 = 1.3). The refractive index (1) of the
material of the lens is

TH o qg (u=1) ¥ ol & w
T (p=13) ¥ afmwrd & % @
UIEN B T | o9 & 21y 1 e
(u) & :

(A 10<pu<13 B) u>1.3

1.0+1.3
) L

€) p<1.0

Which is an example of physical change ?
(A) Metal rusting

(B) Silver tarnishing

(C) Water boiling

(D) Paper burning

=1 ® | o Wifve aftads @1 e
% ?

(A) ST W

(B) €IS @1 &I BT

(C) U™l &1 ST

(D) ®TTS & ST

In the reaction KMnO, + H,C,0, +.....
— MnO, + CO, +.......... , equivalent
weight of KMnOy, is 52.66, then molecular
weight of KMnO, is

, G’lﬂ?ﬁ?m KMnO4 + H2C204 +.on —

MnO, + CO, +........., % "ed & KMnO,
W g W 52.66 ¥ @ KMnO, @

SITTHIT ¥ —
(A) 158.04 (B) 52.66
(©) 31.6 (D) 263.30

In which compound, the oxidation number

of oxygen is positive ? ,
et 4 ¥ fom difte o, afeiom &
STRNBOT T TAH § 7

(A) H,0, (B) Na,0,

(C) H,0 (D) OF,

132 Which of the following compound is

aromatic according to Huckel's rule ?
w199 & ogEr Fret ¥ 9 @ A
wEfes ¥ 7 |

@

(D) H,C CH,

How many structural isomers are possible
for Pentane ?

YR & e @ e quTEa g ¥ 7 |

(A) 0 B) 1
©) 2 D) 3

Among the 4 common type of refrigerants
138

which has the highest ozone depletion
potential ?

wsiiaes % 4 AT Wl § ¥ Brear Iead
SIS raery eFar e ¥ 7

(A) CFCs (B) HCFCs

(C) HFCs (D) LICs

White lead is

e T (W®) T -
(A) PbCO,4

(B) PbCO,; - PO

 (©) Pb(OH), - 2PbCO,

(D) PbSO; - PbO
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137

Monomer units of Nylon 6, 6 are —

(A) Adipic acid and Hexamethylenediamine
(B) Terephthalic acid and Ethyleneglycol
(C) Sebacic acid and Terephthalic acid
(D) Terephthalic acid and Methanol

IR 6, 6 B Unaw sHEAl ¥ -

(A) TN o 9 TRMREFeETE
(B) THife ot 9 FURAFTEESE
(©) Rl o g Sxedifve o
(D) Tewdfores et 9 AT

Select the correct statement about

thermosetting polymers —

(A) Don't melt or soften on heating.

(B) These are cross-linked polymers.

(C) Cross-linking occurs during heating
and when it cools it hardens
irreversibly.

(D) All of these

a9ge SEDl % T W R w1 waw

BT

(A) ™ B X 7 faem ¥ 7 & A e
T :

(B) ¥ firdiess wgas ¥ |

(©) ™ & W frfs 949 T W@ @
frmToT gl % o w19 3 SR B ¥ |
YT SATSHANYT T T FOR SN T |

(D) 7 af

Activity of heterogeneous catalysis

depends upon :

(A) total surface area only

(B) the number of active sites per unit
amount of catalyst only

(C) method of preparation only .

(D) total surface area, number of active
sites and method of preparation

feromielt ST @t wieeaar frfe walt @ -

(A) %99 T T AABA W

(B) %aw witha Hl B dE uRi 3o
SO B AET TT

(C) ¥aw s @ fafr W

(D) F¢ Y &I%d, Gltsa Hl B &
T g9 @ faf o

[PTO. -
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140

141

The elements which are good catalysts and
have the ability to change their oxidation
number are

(A) Transition elements
(B) Noble gases

(C) Alkalis metals

(D) All of these

%I FHAT TET q qd ¥ -
(A) "HU a

(B) Ea =

(C) #rira &g

(D) ¥ &

Correct electronic configuration of
chromium (Cr) is —

BT (Cr) o7 T2 Soleeitme | & —
(A) 3d%4s2 (B) 3d%s!
(C) 3d34s2 (D) 3d%4s!

NH, has a much higher b.p. than PH; |
because

(A) NH; has a larger molecular weight
(B) NH; undergoes umbrella inversion
(C) NH; forms hydrogen bonds

(D) NH; contains ionic bonds whereas
PH; contains covalent bonds

PH, %! g H NH, %1 9% ST gl

(A) NH; &1 onfvas §eq9™ ST g &

(B) NH; # gmsient g=asie e ®

(C) NH; ¥ T=givH % & o

(D) NH, % amafes ¥4 giar & wiafe PH,
A geoHeTs Y
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143

142 Match List-I with List-II and select the

correct answer using the code given below
the lists :

List-1 List-IT
(i PVC (a) Thermosetting
- polymer
(ii) Bakelite (b) Thermoplastic
polymer
(iii) Vulcanized (c) Fibre

rubber

(iv) Nylon 6 (d) Elastomers

free— o1 fre—11 ¥ P B T fre

# &% T B BT TURT B TE TAT B
T HINT
- feel fore-11
@) ®ARA () TG
(i) FbeTS (b) TUGHS HEeSh
(iii) IepIIpa WX (c) BRI ()
(v) -6 () WOTRY TEAE
Code / ®F3 :

A O - @ @) - ®) i) - @ @) - ©

®B) @) - () (i) - @ (i) - (d) () - ©
(©) @) - (@ @) - (b) (i) - (c) (v) - (d)
D) @ - ® () - @ (i) - © (v) - @

internationally on their mobile devices.

(A) Samsung (B) Nokia
(C) Apple (D) Motorola
| HUAT N A WX W TS
(emoji) T TRy o9 WieEw fSarg &
T AT
(A) dwET (B) wfeman
(©) Tow (D) HrERr
[PT.O.

company introduced emoji .

144 Every XML document must begin with a

 (C) wwuHUE T fEro

145

~ (€) Oracle Spatialjet

146

(D) XML attribute

© Robohaut

(A) Root element
(B) Child element
(C) XML version details

V% TR SR % w
STCH BT =TT

(A) & Time
(B) UETs T

(D) THIUHUA USSR

Open source tool used for spatial data
analysis is

wsm%aﬁaﬁw%mmﬁerﬁ
T SO G T -

(A) ArcGIS

(B) IDRISI

(D) QGIS

is the first robot with Artificial
Intelligence to fly in space.

(A) CIMON
(B) Valkyrie RS

D) Spldernaut

Wg&;(@»ﬂ%ﬁs&m«éﬁlﬁw
% T sfaiter § I A veen Qe T

(A) HgaA ,,
(B) areriftg oS
(C) qeFie

(D) wrEETre
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147 The web browser available with first

148

149

150

graphical user interface was -

(A) Opera (B) Chrome

(C) Erwise (D) Firefox

YO MHd Yo $eTH & U SwE
99 FRAT AT —
(A) s

(C) Warsw

(B) W
(D) BraTHE

The statement { ++; is equivalent to :
(A i=i+i

B) i=i+1;

©) i=i-1;

D) i+~

HYT -+ TN E -

A i=i+i%

B)i=i+1;%

(©) z-—z—l, P

D) i-— %

India's first super computer PARAM 8000
was launched in year ____

WIGE % TUT gUX BT T 8000

garw Ay ¥ fomy T
(A) 1990 (B) 1991
(C) 1989 (D) 1992

is an Indian sofiware application
developed by ISRO to explore 2D/3D
representation of earth surface.

(A) Bhuvan (B) Bhumi
(C) Bhuyaan (D) Bhudev
9=l @l a5 % 2DAD  Rewi/freer @

% AT HFaay Ueihs &
(A) ga (B) W
(C) A (D) &
- [PT.O.





